| Efficiency vs Dxy |
>1.2
X

=
!
8

efficiency vs d

o
(0]
T T | T

o
(o))
L

o
~
[

o
[N)
I

Ratiq
&

UL LI LR RT e | ] i
0-9%E-20-15-10 -5 0 5 10 15 20 25

TP dxy (cm)

—=— DOM_V000I_RO0000000I__Global___mKkFitOriginal__RECO
Effici D —e— DQM_V0001_R000000001__Global__mkFitNewDett_ RECO
| Iclency vs Dz | —— DQM_V0001_R000000001__Global_mkFitNewDett33__RECO

—— DQM_V0001_R000000001__Global__mkFitNewDetNoF__RECO

V4
=
N

=
!

8
8

.....................................................................

efficiency vs d
o
©

o
o))
[

.....................................................................

L S T ——

.L.L»OIIII;

30 20 <10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


